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INSTRUCTIONS

Each question is printed both in English and in Kannada,

Answers must be written i the medium  specified
{English or Kannadal in the Admission Ticket issued io
yoi, which must be stuted clearly on the cover of the
answer book in the space provided for this purpose. Nu
redit will be given for the answers written in a medium

other than that specified in the Admission Ticher.

Candidates should attempi questions 1 and 5 which o
compulsory, and any three of the remaining grestions,

selecting at least one question from cach Scetion,

All questions carry equal marks.
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SECTION A

Comment on any three of the following in about 200 words each -

(@ “.. where a man whao should be condemned 15 condemned, the
king is guiltless, the judges are free, and the guilt falls on the one
whe did it (Manuy)

(bl ... every polis s a community, and that EVEry comnmunity s
established for the sake of some good . ..” {(Aristotle;
el “The plain difference between the state of nature and the state of

war which, however some men have confounded, are as far distant
as a state of peace, goodwill, mutual assistance, and preservation,
and a state of enmity, nature, violence, and mutual destruction are
one from another.” (Locke)

(dr . within the capitalist system all methods for ralsing the =zocial
productiveness of labour are brought about at the cost of the
individual labourer.” (Karl Marx)

Examine the difference in the process of political socialisation in open
and closed societies,

"An explanatory, predictive and manipulative political theory that can be
used to solve the problem of violence and coercion in human affairs.” —
Discuss,

Explain the various modern notions of justice.
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SECTION B
Comment on any three of the following in about 200 words each :
iy Political development
b1 Political Elite
¢)  Constitutionalism
idi Bureaucracy

Discuss the working of Indian federalism and the problems  of
Centre-State relations.

Examine the pattern of leadership in the context of proliferation of
political .parties.

“Reforming the electoral system is a prerequisite 1n bringing democracy.”
— Examine.
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Note ;. The English version of the instructions is printed on the

nt this question paper.



